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QUESTION 1

Given the following command:

vxassist -g datadg make datavol 10g layout=stripe !ctrl:c2

Which instruction does the !ctrl:c2 attribute prompt Volume Manager to follow?
A. to exclude devices connected to controller c2

B. to exclude devices connected to all controllers except c2

C. to exclude devices from enclosure named "ctrl"

D. to exclude all but the fastest devices from controller c2

Correct Answer: D

QUESTION 2

Which two requirements must an administrator consider prior to implementing SmartlO? (Choose two.)

A. The device must have CDS disk format.

B. Veritas file system (VXFS) disk layout must be version 9.

C. Three nodes are required for VXFS writeback caching.

D. Veritas Volume Manager (VxVM) disk group must be version 180.

E. Cache must be local to each node.

Correct Answer: CE

Reference: https://www.google.com/url?
sa=tandrct=jandg=andesrc=sandsource=webandcd=8andved=2ahUKEwjppKH167TkAhUNCxoKHbcfCdkQFjAHegQIAh
ACandurl=https%3A%2F%2Fvox.veritas.com%2Fqsuop67736%2Fattachments% 2Fqsuop67736% 2Fstorage-and-

availability-management%2F285%2F 1%
2Fsmartio_deployment_guide_linux.pdfandusg=AOvVaw3qtL20B9QhgwWkma6JpW9z

QUESTION 3

Which option should an administrator use with the vxsnap command to resynchronize a full-sized, space-optimized or
linked break-off snapshot with the original volume?

A. refresh
B. reattach

C. restore
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D. prepare

Correct Answer: D

QUESTION 4

What are two benefits of virtual storage using Veritas InfoScale Storage for UNIX/Linux? (Choose two.)
A. The ability to resize storage across physical devices is available.

B. A lesser number of disks are needed.

C. Improved storage availability by mirroring between arrays is available.

D. Enhanced file sharing is available.

E. The ability to boot from Storage Area Network (SAN) for 4k sector devices is available.

Correct Answer: AE

QUESTION 5

Which two features must be configured in order to manage storage with SmartTier? (Choose two.)
A. the placement class tag

B. SmartTier management at disk level

C. SmartTier with solid state disks

D. VXFS single volume file system

E. SmartTier management at file level

Correct Answer: AD
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